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Question No. 1 is compulsory.
Attempt any Five questions from Question Nos. 2 to 8.

Parts of a question must be answered together.

Marks afe indicated against each question.
1 : (a) Define the following terms : | ' - 24242
- ‘ (/) Computer Network
s (i) Protocol
(i) LAN..
(b) Differentiate between the following : 242
(/) Hub and Switch .
(@) Static and Dynamic Web Page.

(¢) What is the difference between text area and text box object in a form ? 2

PiTIO.
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(5)

(a)
(b)

(a)

( 2) 2307
What is star topology ? Give its two advantages and two disadvantages. 3

What is half duplex data communication ? 2

Write HTML statement to make “abe.jpg™ as background picture of a web page. ‘2-!
i
What is the purpose of “ROWSPAN™ option in an HTML table ? 21

Write a JavaScript Statement to display a dialog box with the message “The background |

color will be changed™. 21

What are unordered lists ? State the different bullet types available with unord'eredl

lists in HTML. 2
What is World Wide Web (www) ? How do you access a document using www ? §

What is TELNET ? What is the difference between local and remote login in

TELNET ? 54

What is the full form of ISO OSI reference model ? Explain the responsibilities of Session

Layer and Data Link Layer in OSI reference model. : 5]

What is a twisted pair cable ? Differentiate between Category 3 and Category 5 twisted

pair cables. : 342
Write a short note on HTTP, explaining its use and properties. 5
What are the criteria that affect the network efficiency ? 5

What are frames and framesets ? Differentiate between them with the help of an

example. . 5



(b)

(a)

(b)

()

(.3 ) 2307

Explain any three events in JavaScript ? Which tag helps us identify a JavaScript code

in an HTML file ? Can we store JavaScript code as a separate file ? 3+1+1

What is the difference between break and continue in JavaScript ? Explain with the help

of an example. ' 5
Write an html code to generate the following output : S
Bakery Items :

(i) Pizza

(i) Cakes

(7iif) Cookies

(iv)  Muffins.

Drinks :

(@ ’Coke

(r:i) Pepsi
(iii) Sprite.
Give the syntax of FONT command in HTML. 5
Deécribe ﬁe functions performed the following HTML tags : | 5
() <HR>

(i) <DIV>
' P.T.O.

PI0.



(4)
(iif) <BR>
(iv) <P>
(v) <I> text </I>
8.  Briefly explain the following :
()  Search Engine
(if) Web Crawling
- (iii) WAP
(iv) URL

~ (v) Increment and decrement operators in JavaScript.

- 2307 4
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Note :

Answers may be written either in English or in Hindi; but the same medium should be
used throughout the paper.
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w1 AEH T @ T A
Attempt five questions in all.
Question Number 1 is compulsory.
Attempt any four questions from Question Nos. 2 to 8.
All questions carry equal marks.
F& Ui T B W A
. Y e 1 afed gl
Te gem 2 ¥ 8 A e W e w1 s e
et gl @ ol e €
Write shcn_*t notes on any iwo : T:5.7.5
(aj Circular flow of income in three sector model
(b) Tax Multiplier when T = T, + £Y
(¢) Paradox of thrift.

(d) The motives of demand for money.
P.T.O.
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el & W foml fafen

(a)ﬁq"@ﬁaaﬁwawﬁmmaaﬂam
(b)En"{‘;rUriEWT=TO+rY

(© =d o1 foludmg

(d T H A H Q@)

(@) Calculate the GDP (Gross Domestic Product) of an economy using the expenditure
approach.

(b) Elaborate the steps to calculate Disposable Personal Income.

(¢) Discuss the limitations of the GDP cm;cept. 5,5.5
(@) mﬁﬁmwamémmmﬁmﬁml
(b)_mmmﬁjmﬁmwmmhaﬁml
(c) 'GDP ¥ EuRwT &1 HWimeli =1 =rem R

What is Fiscal Policy ? How fiscal policy has a multiplier effect on the economy ? Explain
with an appropriate diagram. 15

W%w%?ﬁawnﬁaqﬁmaﬁmﬂwmw
TN TEd ¥ ? Th SWE Y@ifed W avd s

(@) Describe with the use of diagram, equilibrium income using saving investment approach
(b)) C = 100 + 0.5Y and Investment = 50 -
(1) What is the equilibrium level of income ?

(i) If investment increases to 75, what is the new level of income. 9,6

(@) -W—Wmﬁmﬁﬁmm%ﬁmw%@ﬁﬁ?@m.
IR FHifST
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(b) S o = 100 + 05Y 3R PR =50 ®
() 3@ 6 HgeH T T 2
(u)?:ﬁ:ﬁémwn‘asrr&é’lmmwmwm ?
(@) Explain aggregate demand and aggregate output. 5
() The following information is given for an economy :
=65 0.5Y;
T =i+ Y
I = Rs. 85 crores
G = Rs. 60 crores
(i) Calculate the equilibrium 1eve1 of income.
(i) Calculate government expenditure multiplier.
(i) How much does the government collect in net taxes at equilibrium ?
(iv) Compute the value of government budget deficit/surplus. 3232
(a)wqhaﬂ?wwmﬁwﬁqi | |
() wh sderen & aR # fEfdied gEN ST ¥
€ =855 X,
P40 7025 Y
I = Rs. 85 crores
G = Rs. 60 crores
() @ & Tged T hI IO i
(i) - = Tl i IO i
(ifz)ﬁwmwmmumw@ﬁ ?
(iv) WW'W/Wéwﬁmﬁmn

PO,
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6. How is equilibrium of GDP determined in four sector economy ? Explain with the hely |
of diagram using aggregate output-expenditure approach. ‘ 15

systems. 5,10
amw%?agﬁ‘%n‘wﬁwgmﬁmaﬂmhﬁmﬂ

8.  What are the measures  of money supply ? What are the instruments in the hands of
the Central bank to contro] money supply ? 6,9

@@ﬁmw—w%?wﬁﬁﬁﬁﬁamﬁm%ﬂaﬁa
P UH BE-PEY SuERT § )

5233 : 4 _ 100
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Note : — Answers may be written either in English or in Hindi; but the same medium should

be used throughout the paper.

feouft —wqﬂ—ﬁmwaﬁﬁrm%ﬁﬁ?@@wﬁaﬁq m-—gl,mﬁaai’r
WW@'@@WH@QI

Answer any five questioné.
All questions carry equal marks.
frdl ot W & Sw A
Teft Wl & i WHE T

': 1. (a) Describe the major macroeconomic issues in an economy. How are such issues addressed

by the policymaker ? 5 9

wmémamég@q@maﬂﬂﬁm|mg€raﬁ=ﬂﬁ
ftar g0 foFe YER Geitya TR S g 2

- ' * P.TO.
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(b) The following specifications about an economy are given :
C = 50 crore + 0.75 Yd Yd=Y-T
I =50 crore
G =130 crére
T = 100 crore
Calculate :
(1)  The equilibrium level of income and consumption.
(2) The proportion of national income collected by the Govt. as taxes.
(3) The value of multiplier.
T dderaey & frfafeg Hhs Iy ¥ .
~IU = 50 FE + 0.75 Yd | Y=Y - T
faw = 50 #ie
T =9 = 130 i
= 100 Fe
m Hﬁﬁq 4
(1) & T3 YT H Ggem ww|
) mmmn@ummmwl

(3) T g
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What do you understand by national income ?
(@) Explain the various methods of estimating national income in an economy.
(b)  Differentiate between :

(1) Actual GDP and Potential GDP

(2) Nominal National Income and Real National Income. 105
TR AE F WY O § 2 l
(a) maémawﬁmmmﬁﬁﬁmﬁfwwaﬁqﬁm|
() 9§ SARY :
(1‘) grdfaesh GDP aen |uifad GDP
@) A T T T e T o

(@) What is meant by multiplier ? Explain the working of multiplier using suitable diagrams

and example. 9

TR N § ?Wmﬁwmawﬁﬂmwﬁml
(b) For the comsumption function :

C = 10 + 085 Y

(1)  Derive the corresponding saving function.

P.T.O.
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(2) Find the level of income where saving becomes zero.

(3) The value of MPC and MPS. | 61

afs 3P Hem frEfafeag & -

C=10+08Y

@ R HifeTT

(1) s = s=d Fer| L 5

2) & & W TE TET I 5
3) ﬁnmmﬁnuqﬁqé#\nmwquﬁl

What is investment function ? How do changes in real interest rate influence the mvestment

expenditure ? ' ‘ , | 9

Wwﬁmwm%?mmmﬁqﬁaﬁqmﬁﬁéﬂm
¥ 9 THR SeomE o ¥, wHeEd |

Differentiate between
(1) Nominal interest rate and real interest rate

() Planned investment and unplanned investment. 6

L

If
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I FARY ‘
() S & AEH R U S FAEF
(i) fFrafsa 113 s Frerer
Explain the determination of equilibrium level of national income of a two sector

economy using suitable diagrams. Is the equilibrium level of income found only at full

employment level ? 15

ferdl 1 e 4w i sl & wqf o o @ o F
I8 Fger Had 0 R ®WR W @ B ¥ 2

Explain the process of credit creation by a commercial bank. What are the factors on which

credit creation depends ? _ 15

@Wﬂﬁmwﬁﬁmmaﬁwﬁﬁmwﬁﬁwﬁmm
A W R w § 2

(a) Analyse the quantity theory of money.
. (b) Explain the concept of High Powered Money. 10,5
(@) Hx 9 fagia w1 faveror st

(b) =9 W Y STUROT H qHIEY |

P.T.0.
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Write short notes on any two :
(a) Foreign Trade Multiplier
() Monetary Policy

(¢) Speculative demand for money.

ol W dfera foofort ferfen

(@ faesh =R o
() WMfsH ifg

() ¥gl ¥ & foag g1 =1 4y

6

8083

TV 7%

4000



This q‘uestioh paper contains 4+1 printed pages]

Roll No.
S.No. of Question Paper : 8084
Unique Paper Code 1 62274301 _ GC
Name of the Paper : Principles of Macro Economics—I
Name of the Course : B.A. (Prog.) Economics Discipline
Semester T
Duration : 3 Hours Maximum Marks : 75

(Write your Roll No. on the top immediately on receipt of this question paper.)
(8 v -7 & foem @ sw e T e =W W osw s fefau)
Note : —  Answers may be written either in English or in Hindi; but the same medium should
be used throughout the paper.
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Answer any five questions.

All questions carry equal marks.

ol uta vl & s Afed
vt wel & o wEe §
l. (a) Define national income. Does increase in national income always lead to an increase in

economic welfare of society’ ? 8

U@amﬁﬁwﬂm|wu@amﬁq&;@ﬁﬁzﬁwwiaﬂﬁa
weam # gfg e T 2

P.T.O.
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() Given,
_ NDP at market price = Rs. 25000 crores
Depreciation = Rs. 500 crores
Net factor income from abroad = Rs. 1000 crores
Net indirect taxes = Rs. 300 crores
Find out :

() NNP at factor cost

(ify NDP at factor cost

(7ii) GNP at factor cost

(iv) GDP at market price

(v) GDP at factor cost

(vi) GNP at ma}‘ket price

(vii) NNP at market price. 7
fear gom ¥

IS HAd W YS N 34A- = 25000 FAIT %

Il

Hedeld 500 TS %

foeel ¥ W Y§ 9eF o 1000 FIS .

IS ATIY Y = 300 S %
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(@)

(b)

( 3 ) 8084

() G EH G W 213 T 3R]
() WA AW W YE W TR
(iif) mwmmwn@am |
(iv) ISR 9T W T W] SE
(v) W AR W Ghd W IR
(vi) AR FHAG W THe [T IR
(vii) SR Hd W Y[g TS 39
Describe the money flows in an open ecoﬁomy. 8
Th Gell sy § o % wmiE e e 9ol i
Briefly explain the balanced budget multiplier. 7
th%xﬁ F9d YUk AT & HEI § 7
What is the investment multiplier ? Discuss the working of the multiplier process. 9
frae T R wey € 2 U T UfRA w1 eEmem wifey
It C = 50 crores + 0.6Y |
[ = 20 crores.
() Find the value of the multiplier.

(7)) By how much consumption and income will increase as a result of increase in

investment by 30 crores ? | 6

P.T.O.
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= »
I = 50 FAT + 0.6Y
e = 20 ?ﬂ‘r:cf
() TIUE F Yed HFHEH RIS
(i) AR e & 30 Fe # 9fs A ¥ A Forowy 96 v smm A e

gfs Bt ? |
)
What is the net export function ? Using aggregate expenditure and aggregate output approach |
~explain the equilibrium income determination in an open economy. 15
s Fafd wem @ § ! FA o T B IR & e w1y e g
SPefedaee &1 Wfad o9 @ el #if

(@) What is money ? What are its main functions ? + 4
a5l ol wed € 2 T e s s ¥ 2 5
(b) Discuss the key determinants of demand for money in an economy. ‘ 1

m}aéwawﬁgmaﬁnhaﬁﬁufﬁﬁmmﬁmmaﬂhaﬁﬁw

How do commercial banks create credit 2 What are the limits of credit creation power of

commercial banks ? , 15

mﬁm'ﬁaﬁwﬁﬂﬁﬁm%?mﬁméﬁﬁwﬁﬁmmﬁw.
o § 2
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( 5) 8084
What is meant by monetary policy ? Discuss the various methods used by the Central Bank

to control the money supply in an economy. 15

g Hfifd w1 o w0 ¥ 2 ot sreferen § S ¥ g0 wm @ @ fEw wq
& foIU ST W S SUSU @1 =men Hife)

Write short notes on any fwo : 7,7
(a) GDP deflator

() Quantity theory of Money

(¢) Paradox of thrift.

foredl & W dfea feuforet fafen -

(@) GDP AI¥RifawTeh

(b) g1 1w fagi

() &=d & foRenyE|

5 1,800
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NoTE:— Answers may be written either in English or in Hindi; but the same medium should be
used throughout the paper.

fewquiy.— mﬂmwaﬁraﬁa?mfﬁ#mﬁww#ﬁméﬁnmﬁmw‘
qTs U g g7 9nEl

This question paper has three Sections A, B and C. In Section A all questions are compulsory
and carry 10 marks each. In Section B candidates have to attempt only five
questions which carry 8 marks each. In Section C candidates have to
attempt only one question which carries 15 marks.

§9 9% 99 A @ T A, B TIC 1 WA F G ¥ ard § aur 5@F 5T o
& F &1 9T B ﬁﬁwwm%m#ﬁ#mmmaﬁw?/
G C ¥ @ frdl G N F1 SR A, T0F T 15 sF

Section —A (HTIT A)

I. - Suppose following data are given for an economy for the Budget in (Crore of Rupees):
Tax Revenue = 803516 ‘
Non Tax Revenue = 187857
Recoveries of Loans = 12738
Other Receipts = 36637
Borrowings and other liabilities =410625
I. . Find out the Capital Receipts

ii.  Find out the Revenue Receipts

iii. ~ Find out the Total Receipts

iv.  Explain the meaning of Budget Expenditure.

Hmaﬂﬁﬁﬁwmé;m%aﬁﬁﬁmﬁ%ﬁm(mmﬁ)m%;

P.T. O.



HT [TET = 803516
I F TsET= 187857
HOT T GGl = 12738
I gifeaar= 36637
HOT U I GG =410625
I qetere wiftaat $r aorar w¢
. A ifcaar fr umEr FP
lil. e gIfcaat $r T HE
V. =¥ &§aic T IGUROT FT quiE Ry
2. Suppose for an economy the following Balance of Payments data is given for the year
2015-16 (in US 8billion):
A. Current Account
I.  Exports= 145.6
Il.  Imports =307.2
. Invisibles(Net) =67.2
a) Services =45.3

b) Transfers=22.4
¢) Factor Income = - 10.5

B. Capital Account

. External Assistance = 0.2
II. ECBs=-0.9
[Il.  Short —term Debt = -1.2
IV.  Banking Capital =17.3
Of which:

Non —Residents Deposits =10. ]

V.  Foreign Investment = 7.9
a) FDI=16.7
b) Portfolio Investment = - §.7

V1  Other Flows = 1.0
Capital Account Balance = 25.4
C. Errors and Omissions = - 0.4
Capital Account Balance (Including errors and omissions) = 24.9

i.  Find out the trade balance.

il.  Find out the current account balance.
iii.  Find out the overall balance. )
iv.  Define the term Balance of Trade. 2.5 marks each



3
TH HeaaRr & v a¥2015-16 & v (Rftwe 3 sor #) spam dqee &
ffaf@a 3nws 30 vaR &;
A. 9ol @rdr
. fagla =145.6
Il - mE =307.2
[ 3227 (3YEy) =67.2
a) AaF =45.3

b) FEATRUT=22.4
c) =T g =-10.5

B. gaiiere @rer
IV. &g \graar=0.2
V. g # & (ECBs)=-0.9
VI.  3eq FTelled HOT  =-1.2

VIL R 9o =17.3
Sad 4O

R gardr sEr =10.1

VI  faeeh fder =7.9 _
c) gcger facRlr f@asr = 16.7
d) GRIFTT faer= - 8.7

IX 37 gag = 1.0
eI WTaT A¥=25.4

C. Terdll TUT 9T gF= - 0.4
'Wmaﬁ(wﬁrmaﬁgﬁaﬁakm,g
i. YR AT ST BN | |

ii. . Te] Wil Y T BN

iii. @l AN T BN :

iv. YR 3 B gRIRT B |

2.5 marks each
Section —-B (& B)

3. What are the key provisions of the Paris agreement?

ﬁrﬁqwaﬁﬁa%:g@mwmm%?
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4. Explain India's merchandise trade . What is the composition and direction of India's foreign
trade for the last five years

W%Wﬁmaﬁlﬁaﬁﬁaaﬁﬁw$%ﬁwaﬁmm
faem T 87

5. Explain the structure of the revenue budget and the capital budget of the central
government, ‘ ‘

Wﬁmmwﬁmaﬁmaﬁwaﬁl
6. What is social infrastructure? Explain the trends in social sector expenditure.
Wmmwé?wmﬁumaﬁmﬁmﬁl
7. What is external debt? Explain the composition of India's external debt.
TET T TN E? NG B ART T B AT &Y AT B |
8. What do the union budget documents explain? How are these documents studied?
me—éwwmmé?ﬁw-éﬁwmmm%mm
2 .

9. What is exchange rate? What is the im pact of exchange rate volatility on India’s trade?

Waw‘%?ﬁﬁwav%vﬁaﬁwﬂammwzﬁwwwmmﬁ?

10. What is human development index (HDI)? Explain India's position in the Global HDI 2014,
Wmmw%?mmmem#W%Wﬁ
T & |

Section —-C (81 C)
I1. What is the union budget? Explain the_ process of budget implementation in India.

Ef}f%mmerm%?wﬁaﬁrazﬁmmm%aﬁﬁﬁwmaﬁl
12. The Fourteenth Finance Commission was guided by the terms of feference and the

approach of the previous finance commissions. Explain it.

13. What is the meaning of balance of payments? What has been the recent development of
capital account balances in India? |

Wﬁwaﬂ&mﬂﬁ%‘?w_%.wwm#mﬁwwmg&nﬁ?

900
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_Wﬁzww—wwwaﬁﬁﬂmfﬁﬁw&"wﬁaﬁq;aﬁwaﬁeﬁ
o1 W TH g e ARl |

Section A : Language ’ 26 Marks
AT ‘¢ TSl
1. Explain any four in about 50 words each : 4x2=8

- (i) Language and forms of expression
(i) Language and Gender

PO



(2= 5288
(iify Phoneme
(iv) Alphabet
v) Commmicaﬁon.
(vi) Slang
(vii) Feedback.
fH=l = &1 @ 50-50 vE # s S
() sy & ®9 iR wm
() ™ AR fam
(7)Y
(i) fafg .
v) WHRTF FeEE ® w7 4 gy
(vi) STIHTHT
i) fgfe (Wred) |
Answer any two of the followin_g in 1002150 words :  2x9=18
(@) Deﬁne language change and discuss the various factors that affect it.
(@) Discuss Standard and Nén—standard form of languages.
(@ii) Define identity in context of language and discuss how linguistic identity is formed ?

(iv) Differentiate between language and dialect.
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(3) 5288
ST 100-150 veal # fohl & W wfera el fafen
(i) arer afed ® UE SO W el i |
(ii) W%mﬁﬁwaﬁmaﬁmmﬁﬁql
(iif) W@ﬁﬁrﬁﬁaﬁﬁ‘m’ﬁﬂﬁw#ﬁélmmmﬁnﬁ
fFg THER B § ?
(iv)WSﬂT@IFﬁWWFﬁ%I%.?WWl
Section B : Literature 37 Marks
AT W' ;Wi

Answer any one of the following in 150-200 words : 1x10=10

(i) Discuss the salient features of Sanskrit literature.

(i) Discuss the inter-relationship between language and literature.

(iz‘i) Explain the beginning of writing in India. Focus upon its relationship with oral

literature.

SN 150-200 vl # fedt wen W wfyw feoot fafem

() O ofem & uidem § Owha wfew w1 wgE fadsan fafee )
(i) Wﬁﬂwﬁaﬁm:ﬁa'mmgmi

(iif) Wﬁﬁ@ﬂ—maﬁﬁsmaﬁﬁ ? difes aifes 4 @R A

ey § ?

B.T.O:
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4. Answer the following questions as indicatexfp 150-200 words each s 3x9=27

@

(#)

(1ii)

What logic does Rama provide for Valin Vadh ? Discuss. ° |

Or

‘Sharvilaka is a skilled thief, Analyse it in reference with Mrichchakatika.

Or
Explain the concept of justice as expressed in Cillappatikaram. :

Kabir and Mira as poet express the consciousness of society and a revolt there

against it. Elaborate.
Or

Guru Drona became biased in his pursuit of making Arjuna the best archer. Elaborate _'

your ideas on the basis of this. statement.
Or
Comment upon the conflict of desire in the poetfy of Mirza Ghalib.
Kabir condemns superstition and orthodoxy. Elaborate.
Or
Khusrau’s poetry is a tell us a tqle .of pain of separation. Explain.

Oy J

- Explain the nature and form of devotion in the poetry of Namdev.
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%ﬁwuﬁwwwozoom@ﬁwfﬂﬁﬁlmmﬁm@
Eﬁq@w:ﬁﬁmf%

0

aﬁ—a&%mwﬁﬂﬁﬂ;ﬁéﬂ%?ﬁm-aﬁ‘w’%wm
== wife) : | |
i TF WO 9R ¥ geowfeh’ B IMHR W EHiE Hif)

HIAT

- ferfesre’ e H s wm'afraﬁmmmaaiﬁml

(i)

(iit)

Waﬂiﬁnﬁmﬁﬁﬁgﬁwaﬂim%ﬂmﬁam%l
ma:m%aﬁawﬁmﬁmﬁfm| :

SE)

st # T w wds R feg w0 @ e § Sorer 3 v @

ffq @ W FE % AER W AN faER W@ ST

Agdl

fastt i W T § AR ‘Tel 8 e @ faes s

'Wma@mﬁwﬁwmﬁdﬁmmm%tw-

HifTT |

S

. g F Hlaa farg w1 omar 71w i

: argen
qHSE wt Hiow H AR & WEY B TR RIS

~ PTO.
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Section C : Culture
ST “ar’ : G&Rfa
Answer any fwo in 150-200 words ‘each :
(i) Analyse the cﬁlture represented in Television serials.

(#5) Elaborate the concept of popular culture.

' '(iizj Explain the salient features of Indian culture.

(iv) Indian culture focusses upon evolution of values in it. Explain.
fo= & 9wl &1 e 150-200 vl # I fafew -

) _ = |
() eifasH unEes § sifver desfa @t e @it

) R W % e W i

i) R WFfa & gw fagell w FHRT ST |

5288 |

12 Marks

2x6=12

(iv)'mﬁa_ﬁ@ﬁrﬁqsﬁ@meﬁmw%rwaﬂﬁm'.'

5288

1,700



[This question paper contains 2 printed pages.]

Sr. No. of Question Paper : 8062 GC Your Roll No................

Yg- U 1 HHAih JMIAHT IFAHHIE..........i.

Unique Paper Code : 62051312

e TR wie

Name of the Paper . Hindi-A

Name of the Course : B.A. (Prog) Hindi A

IISFHA AT AR ;S g (dEm) Ao

Semester / Annual : I

W / AT ;e

Duration : 3 Hours Maximum Marks : 75
\

g ;3 Hue quites ;75

Instructions for Candidates
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. NotTe:— Answers may be wriiten either in English or in Hindi; but the same medium should be
; used throughout the paper.

fowuit— 3@ F9I9T F7 3R RS A fo (A UF 9 § AGg e g 9 # Awean
T & g1 Teq |

Attempt any five questions. All questions carry equal marks.

farst wia v & SR QT | @ T F % GAAE |

1. Do you think that the period from A.D. 750 to A.D. 1200 was that of political, social and
economic decline? :

= ST A o 2 % 570 ¥ 1200 T TF H F@ TS, W R AE T
T FHA o172

2. - What are different theories kregarding the origin of the Rajputs?

TSt i Seaf % s F w fafes w2

3. Why did the Arabs invade India? What was its impact?
ISl A ARG W A IHA R ? T T A9 S 7

4, Discuss any two regional styles of témplc architecture in India.

mﬁﬁmﬁﬂmmﬁmamﬁﬁfﬁmmﬁaﬁmm

5. Discuss the political, social and economic impact of the Turkish conquest of North India.
SeTt R W AT A & Yerfe, Wi s s g 1 e FHew
P.T.O.
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6.

L 4

Account for the relations between Sultans and nobility during 13th and 14th centuries.

138 T 144 vaTeal # goar S il ¥ dtw gl i sticaT ST

10.

Discuss the objectives, extent and impact of Allauddin Khalji’s Market Controi Policy.

SSE FEers # TR P Hifa F sty fawr ok wga a1 ey Hif |

Examine the various projects of Muhammad-bin-Tughlagq.

Hewe-foa-gires ot fafver dremment o1 wdemr #ifag |

Discuss the life and teachings of Chishti silsilah.

et fifien % gl & sitem st Rl & avis saf |

Write short notes on any two of the following;:
frafafega & @ ol @ W dftra feooht fafEe
(a) Chola Administration |
et ST
(b) Tradé in Early Medieval India
ARk Aegepel § AR
(c) Iqta System

(d) Kabir.
SHeAlT |

1700
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(th;e your Roll No. on the top immediately on receipt of this question paper.)
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Note : — Answers may be written either in English or in Hindi; but the same medium should

be used throughout the paper.

oot :— 38 yei-19 &1 IW SISt W &S fRt v v § dfe weg wedt e
. w HEm TE @ e ey

Students rhust attempt five quesﬁ'ons.
Al questions carry equal marks.
FA Ui T @ SR e
it g F IE WEH T
I.  Discuss the steps taken by Iltutmish and Balban in consolidaﬁng the Delhi sultanate.

feeelt Tea % GedE @ fot Teqd SR woEd g Sed T wed @ aoi
SISl : =

P.T.O.
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Critically analyze the evolution of the Iqta system in the Delhi sultanate, |
ﬁﬁmﬁm%%mmwmm‘mﬁwﬁmn

The economic and administrative reforms of Moha.mmad Bin Tughlaq were an attempt to

streamline a rapldly growing Sultanate, Discuss.

: |
Briefly discuss the emergence of the Bhakti movement in medieval period ? What role did-kj

it play in transforming society ?

qwtﬂaﬁqgnﬁnﬁa'aﬁmémwﬁmﬁwhaﬂmlmﬁwﬁaﬁhm
H TR e @ 2

Discuss the importance of the Nayankara system in the Vijayanagara Empire, _
mmﬁmm%mmwmm i S

The creation of a composite nobility was central to Akbar’ 8 success in establishing the Mughal &
f

Emplre Discuss. : ' |

W%&%ﬁwwﬁwmwmﬁmﬁmﬁmmf
& SR o911 g Hifs (
[

|

Briefly outline the changes in the mansabadari system from Akbar to Aurangzeb. ’
m@aﬂm@a%mﬁmﬁmﬁmwﬁaﬁﬁﬁwaﬁ@aﬁm

‘Describe the evolution of the Mughal architecture from Akbar to Shah Jahan.

W%Wm?ﬁﬁm%%%ﬁmmaﬁﬁmﬁ



10.

8089

ok )

Outline the emergence and organization of the Maratha State under Shivaji.

ﬁmﬁﬁémﬂﬂmwaﬁmaﬂtmwi‘@mﬁﬁm
Write short notes on any mwo of the following :

(/)  Market Regulations of Alauddin Khalji

(i)  Chisht Silsila

(7ii) Shershah

(v) Zamindars in the Mughal Empire.

() A f@mﬁ % SR sifyfrem

Gi) Tt feetaan

(ifi) TRITE

‘_(i{z) e WEsY H SHRR |

8089
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- (Write your Roll No. on the top immediately on receipt of this question paper.) .
(39 999-93 & fie & o feu Ty fuifa wF W e sgeuis fafen 1)

Note :  Answers may be written either in English or in Hindi; but the same m'ediur_n should be
used throughout the paper.

feuutt ww—wmmaﬁﬁﬁm%ﬁwmﬁmﬁaﬁm érmmﬂm
wmmwﬁr@mm

Attempt five questions in all,
All questidns carry equal marks.

% UE Y % W g
it gl & 3l WA €

1.  What steps did Balban take to consolidate the Delhi Sultanate ? Discuss it with special

reference to the theory of kingship.

e 3 Rodl Good @ g O B AU s #ed e ? T wen
w H T $ Tagr & Todm wed # au wifsw)

2 Critically analyze the e\}olution of the Igta system in the Delhi Sultanate.

ﬁﬁmﬁmw&ﬁ%mmwaﬂmmﬁmﬁﬁm
P.T..



62 8090

Sk Desenbe the aims, extent and lmpact of Alauddin Khalji's market regulations.

aam@qﬁeaa%%awaﬁﬁm(ﬁﬁw)%mﬁmnamwm
H FUH Hife

Briefly discuss the emergence of the Bhakti movement in the medieval penod ? What role

did it play in Iransformmg Iocal religious and social practlces ?

LA ED i wi%aanﬁméeewamef&m Ui Eﬁﬁi’qt
uﬁmmmﬁmﬁﬁﬁaﬁwﬁmmumﬁam?

Discuss. the nature of the Vljayanagara State with reference to the Nayakas. -
?mﬁa%%@ﬂe’aﬁﬁﬁmqmwaﬁmamﬁémﬁﬁm
The abilit-yr of the Mughal ‘emperors to forge formidable alliances was central to their |

suceess. DlSCIlSS w1th reference to Akbar and the establishment of the Mughal Empire or

Aurangzeb and the War & Succession. t
.IWWMHWW@WWWW'%WW%N
-mwﬁnwwaﬁwmﬁmﬁaﬁawﬁw%
L ?%?E{‘# H faa=a wifsw)

. The Jagirdari system played an important role in systematizing revenue collection in the

Mughal. empire. Discuss.

aﬂﬂwﬁwﬁﬁmmwwﬁwmﬁmﬁ
m7ﬁémﬁm|
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- 8. Discuss the evolution of the Mughal architecture from Akbar to Shah Jahan.

SR Y Ve & B § TR WEE % HE w1 e St
9. Outlix'le the emergence and organiz.e;fion of the Maratha State ﬁndér Shivaji.

W%aﬁ-ﬁmwﬁmaﬂxﬁwm?@aﬂaﬁmn
10. 'Wﬁtc short notes on any two of ihe folloﬁing :

(1) Ziauddin Barani |

@) Ajn-i-Akbari '

(3) .Zamindarsl in the Mughal Empir‘e-

.(4) Shivaji.

) femeg W

@ ST

¢) T TueE SR

@) TmErst

8090 - | - 3 2,800
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Instructions for Candidates

Iz
2

Write your Roll No. on the top immediately on receipt of this question paper.

Attempt any two parts from each question.

(@) Find the area enclosed between the curves y=xy=Jx;x= y x=1.

(6)
(b) Evaluate :
¥
X
—— dx
J (1+x)" (6)
(©) If 1, =[? Osin"0 d9 (n>1), show that
In =5 Izi In—2 A iz :
n R
Ded that /5 = e ' 6
cduce that 145 2725 ( )
(a) Show that
Im Sin"x dx = el Jm Sin"?x dx (n=2)
0 7 0

PTO.
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Use this result to derive Wallis Sine formulas :

JE G e T3S s (n—1)
0 2 ZAG .. vicwse s B

(n even and = 2)

246 ... (n-1) (
I e n

n odd and 2l3) - (6%)

(b) Find the volume of the solid that results when the region above x — axis and
below ellipse

2 2 -
%+g—2=1’ (a>0,b>0)
is revolved about the x — axis. (6%)

(¢) Find the circumference of a circle of radius a from the parametric equation

x=acost y=asint (0=t<2n. (6%2)

3. (a) Evaluate:

%
)] I log sin x dx
0

x+2

.. )
@ | T o

(b) Solve:
(x2+y*+x)dx +xydy=0. (6)
(¢) Given that y = x is a solution of

d’y . _dy
+1)—-2x=+2y=0,
(= )df <

Find a linearly independent solution by reducing the order. (6)
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(a) Solve:

2
xzzx—{+x%+y=4 sin log x (6)

(b) Using the concept of Wronskian, show that e* and e** are linearly independent
solution of

2
Y 3 oy,
dx dx
Find the solution y(x) satisfying the conditions y(0) = 0 and »'(0) = 1.
(0)
(c) Find the orthogonal trajectories of the family of circles
Xt 3= el (6)
(a) Using method of variation of parameters, find the general solution of
2
Y +y=cot x. (6%)
X
(b) Solve:
(yz + z?)dx — xzdy + xydz = 0 (6%2)
(c) Solve the system of equations :
o +-fdlf y=2t+1
dt dt
dx . dy
2—+2—+y=t L
dt dt # o)
(a) (i) Form a partial differential equation by eliminating the constant a and

b from the following equation :

2z = (ax + y)* + b.

FTO.
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(ii) Classify the following partial differential equation into hyperbolic,
parabolic or elliptic form :

0’ 0’ o O
(=l s : (3+3%4)

(b) Find the general integral of the following partial differential equation
y’p —xy q = x(z—2y) : (6%2)
(¢) Find the complete integral of the partial differential equation

(P*+q*)y = qz _ (6%4)

(2000)
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2. (a)

(b)

(©)

3. (a)

(Write your Roll No. on the top immediately on receipt of this question paper.)

All questions are compulsory.
Attempt any two parts from each question.

SET-C

ldentify and sketch the curve:
x=y'—4y+2
and also label the focus, vertex and directrix. 6

Describe the graph of the curve:
3(x+2) +4(p+1)' =12

Also find its centre and foci.

Describe the graph of the hyperbola:
x*-y'—4x+8y-21=0
And sketch its graph. . 6

Find the equation of the parabola that has its vertex at (1,2) and focus at (4,2). Also
state the reflection property of parabola. 6

Find the equation of the ellipse whose length of major axis is 26 and foci (£5,0) and
also sketch it. ) 6

Find and sketch the curve of the hyperhola whose foci are (6,4) and (—4,4)and

eccentricity is 2. - \ 6

Consider the equation:

3x* +2xp+3y° =19,

P. T..0.



2

Rotate the coordinate axes to remove the xy-term. Then identify the type of conic
represented by the equation and sketch its graph.

(b) Let an X'y’ - coordinate system be obtained by rotating an xy - coordmate system through
an angle 6 = 30°.

(i) Find the x'y' - coordinate of the pomt whose xy - coordinates are (2, 4).
* (ii) Find an equatlon of the curve 2x + 2\/3xy Jinx'y' - coordmates

(¢)Find the equation of two spheres that are centered at the origin and are tange_nt to the
sphere of radius 1 centered at (0,0,7).

4(a) (i) Find a vector of length 9 and oppositely directed to v = — 5i + 4i + 8k.

(ii) Sketch the surface 2x +z =3 in 3-space. ' , - ;
(b) (i) Find the vector component ofv=2i—j+k orthogonal to b =i+2j+28k.
(ii) Find the area of triangle with vertices P( 2 0 =3), Q( 1.4, 5),R(7,2,9). | 3+3 :}
(c) Prove that
lu+vlP+ u=vi=2flufl? +2fv|?
and interpret the result geometrically. - 6 21
5 (a) Let L and L; be the lines whose parametric equations are
Ly :x=4t y=1-2t z=2+2t
Ly (x=1+t y=1-t z=-1+4t
(i) Show that the lines L, and L; intersect at the point (2, 0, 3).
(i)  Find the parametric equation of line that is perpendicular to L, and L, and
passes through their point of intersection. 3+3 -21-
(b) (i) Determine whether the points P; (6, 9, 7), P (9. 2. 0)and P; (0 s —3) Ite on the
same line.
(ii) Where does the line
X=2-t, y=3t z=-1+2t
| intersect the plane 2y + 3z = 6. ‘ . 3+3 -;- ;

(¢) (i) Find the equation of the plane through (1, 4, 3) that is perpendicular to the line

Xx=2+t y+3=2t z=-¢



(ii) Determine whether the planes
3x=2y+z=Ldx+y=22=4
are parallel, perpendicular or neither. 3+ 3 %

6. (a) Giveﬁ three containers 3, 7, and 10 liters respectively with the largest being full of water,
determine a minimum sequence of pouring method of dividing this quantity of water into two equal
amounts of 5 liters using the three containers and no other measuring devices. 6%

(b) Is the following square a Latin square? Can it be a group with the multiplication operation

defined?
3 IR IR i T
1 2 o 200 S TS B S
gl o B (5 Sl I A T
3 |3 |4 15 |2 |1
4 |4 |5 |1 [3 |2
5 15 13 | 2=11 |4
1
63

(c) . (i) Given the influence model. Find the sets of minimum number of vertices which can
influence every other vertex in the graph.

A a

F/_ \’ s

loce
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Instructions for Candidates
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Write your Roll No. on the top immediately on receipt of this question paper.
Attempt any four questions.
All questions carry equal marks.

Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.

Bl & fog FHEw

1.

B oe 0N

T UA-1F & fie & IR Ry W FuiRe e | s sgeene fofag )
Al TR 9eH & IR dod |

el u S 3w T R )
. 3 UET-9F 1 IR Sl a1 B FE v o F AR, AfeT o SRl @ wrew v
Bl BT WY |

. Evaluate the powers and functions of Member of Parliament (MP) in India.

MR A G992 -9eEl & Al O Al 1 e e |

Do you think that 73 Amendment in the Constitution has enhanced the power
of local self-government in India ? Discuss.

T AT FEE 2 o gfaam & 739 g9mue 3 YR & LG e 6 i gered e

2 7 e & |
PO



8141 2

3.

Briefly explain the process of Law making in the Indian Parliament. What is the
role the standing committee in process.

TR gag o faftr et 9 witear 1 98w A avi 9 | 8 wia ¥ o sl 99
a1 it 8 7

What are the major committees of the Indian Parliament ? Briefly discuss their
respective roles.

I §EE 1 W@ Giial - a2 98T i T Gefte it 3 R
Y | |

What do you understand by budget ? Examine the role of Parliament in budget
making process in India.

S W AT T GHIA © ! WRA A aoie o W wae o e @ aderr o |

Discuss the power and functions of Finance Committee of the Indian Parliament.

R w9e & facia afifa & o va afraal 9 e i |

Examine the role of media in Democracy.

Srepe ¥ AR ) T w1 90T FR |

Write short notes on any two of the following :
Prfe 3 3 foedl @ W Afer ol R
(a) Committee of Subordinate Legislation
st faum wfifa
(b) Railway Budget
A TN
(c) Types of Media
Hifear & YHR
(d) Money bill
u - fagas

(2900)
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NoTe:— Answers may be written either in English or in Hindi; but the same medium should be
used throughout the paper.

fmhmmﬂwmaﬁa?mfeﬁwWwﬁmF?ﬁ-—rmr*aﬁﬁmmm
: T & Fr ey

Attempt any four questions. All questions carry equal marks.

%',Wm%mﬁmzwﬁm%mmﬁv

1. What are the various approaches to the study of state and politics in India? Discuss main
- features.

mwm'@mmaamﬁﬁmmm%?mg@mnﬁﬁm
HifeT |

2. In the Indlan Constltunon Fundamental nghts and Directive Principles are
complementary. Discuss.

It WfgaE ¥ wfers it o q?i;cr-ﬁ‘?fm O THI & [ § | T i

3. How did the Supreme Court’s ‘basic structure’ judgement change the discourse on the
Indian Constitution?

SHAH AR & G g ﬁﬁqﬁﬁwmmﬁuﬁmwﬁﬂaﬁm?

4. Implementatlon of the Manda[ COmmisswn report changed the nature of caste polltlcs in
India. Discuss.

Wa@wﬁﬁééaﬂaﬁﬁmmmﬁmﬁfaﬁm&raﬁmfﬁm?

S.  How has India’s development policy changed since 19917 Analyse. :
' BT
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a1 o AT 1991 % A T SRR agelt @ 2 oo i |

6. What has been the impact of liberalisation on the workers’ movement in India?

Tt sTefeaEe ¥ SIS0 1 A0TSR ST WS Y9 Yl © 2

7. How has communalism posed a threat to the secular polity of India?

YA T ARd & vetriy TeHifae e % Ay R TER W g g e e 2

8. Write short notes on any two of the following:
(a) Chipko Movement
(b) Bahujan Samaj Party (BSP)
(c) Committee System in the Lok Sabha
(d) Judicial Review. .
e # & Fret & W e fromi fafe
(a) faet sAige™
(b) FESH IS
(c) wrwas Hi wiifa wgfa
(d) . =nfaeh qAfdareR |

900
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used throughout the paper.

feuui.— 39 F¥TTT F1 IR AT AT [ ol uw T ¥ T elfeFT Q4! ST F1 ATeTq
T% gl g qnE ' i

lAtrempr any four questions. All questions carry equal marks.
fe=gl @R F9 & 3R QAT T T & 3% U 8
1. Discuss the Gandhian approach to the study of State and politics in India.

IR W ST Ud UsHifd & A3 & idtandt 3urm St faa= st |

2. Discuss the role of the prime minister in the era of coalition politics.

TS I USHITG o 0 H FuEA Ft fden st fae=mn S |

3. Rajya Sabha has been described as a ‘cooling chamber’. Examine.

UG & Th “Viidelsh T4’ gl 41 7 | GHeur FHey |

- 4. Discuss the changing role of the middle class in Indian politics.

IR TG § e vl R gl iR @1 e S |
5. Analyse the features of ‘The Congress System’ as described by Rajni Kothari.
T ISt gr1 afvfa ‘wilre yonet’ & |ewil 1 fageye HifT |

6. What has been the contribution of Five-Year Plans in India’s economic development.

ARA o ST faera & deeta Arsmisil &1 o9 aeeE @ 2
| P.T.O.



7. Examine the changing nature of peasant movement in India since independence.

Wﬂm%mmmaﬁmﬁmmqﬁwﬁmu

8. Write short notes on: any two of the following:

(a) Public Interest Litigation (PIL) z
(b) Patriarchy |
(c) Speaker of the Ldk Sabha
(d) Comrnﬁnalisrﬁ.
Frefafen & § fest & w Wi feoit feafe;
(a) SHfEd afaen
(b) fagExTETHaT

(¢) ArwET seIE
(d) WA |

2500
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2. Attempt any four questions.

3. All questions carry equal marks.

4. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.

el @ fog FBdm _

1 = Y- @ e & e Ry v Fuife wm ) swen agwe fofeg )

2. Tl o) vl & IR ARA |

3 ¥l yE R 3 S ) |

4. =9 YET-U 1 SR SN a1 B Rl v s H AR, oAfehT @it ST AT e v
2 BHl 41eY |

1. Discuss traditional approach to comparative politics. Examine the relevance of
the Institutional method of comparative political analysis.
IO ISR N WREE S 1 e IR | e et fSEeuer
FEAHE TUMCH & I ol G0 o |

2.  What do you understand by authoritarianism ? Discuss how authoritarian regimes

are different from the democratic regimes giving suitable examples.

PFO.
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T A ST T B 7 Gt SR Al WA R O G | hel
T & 7 Seren 9w e i |

3. Briefly examine the main criteria for the classification of political systems in the
modern times.

Wmﬁﬁﬁmwﬁ%m%g@ﬁuﬁaﬁwmﬁmaﬁﬁﬁl

4, Explain the main features of Britain parliamentary system. Do you agree with the
view that the Prime Minister plays a central role in it ? Discuss.

ﬁ%ﬂﬂﬁﬂuﬁﬁﬁﬁwﬁaﬁwaﬁﬁmwmwﬁm%m%%
T SO T Deeid T T 8 7 e ST |

5. What are the advantages of the Presidential system ? Do you agree with the
statement that Presidential system provides a strong leadership to the government
and state ?7

TSI ST B T A R 7 ST ST 36 YA ¥ GEH © [ el oAl AR
3N T Y AT Aged WA el 8 7

6. What are the distinguishing features of the federal system of Canada ? Discuss.

e Y G e &t T fafdnean @ € P fadeEr il |

7. Highlight the objectives of elections. What are the underlying reasons behind
growing demand for proportional representations ? Discuss.

W%ﬁﬁwwgﬁma@mﬁaﬁuﬁﬁ%ﬁ%ﬁwaﬁrw%ww%?
e AR |

8. ‘Write short notes on any two of the fgllowing :
frfofag X ¥ feedl @t w it oot forfag -

(a) Multinational Corporations
TEAEE A
(b) Role of Political parties in U.S.A.
e ¥ TRt T Y
(c) ‘One party system in China
< @ Teh qelld TR
(d) Security state
TReT A
(2300)



his question paper contains 2 printed pages]

Roll No.
%. No. of Question Paper : 8098
Jnique Paper Code . 62324306 ' | GC
Vame of the Paper : Compara-tive Government and Politics
Vame of the Course : B.A. (Prog) Political Science Discipline
Semester | : 1K
Duration : 3 Hours Maximum Marks : 75

(Write your Rol? No. on the top immediately on receipt of this question paper.)
(39 9-T9 & foen & IR Ry mu fuife ©m | o sgEae fafey 1)
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fuui wmmwwaﬁsﬁmﬁﬁﬁﬁsﬁ@wﬁéﬁq dfer Tt W
&1 WG Teh B oAl dled |

Attempt any four questions.
All questions carry equal marks.
fpdl W T @ W AR
it g & o WA B
. FExamine the nature and scope of comparative political analysis.
qOTeE  Tseife favemor @l gehfa ofR sTem-a 1 qleor hifs |

2.  Distinguish between authoritarian and democratic political systems. Give reasons for the

emerging authoritarian trends in third world countries.

W@ﬁﬁﬁmﬁ%mﬁﬁ%mmmmﬁraﬂmwﬁﬂﬂgﬁm
4 IR gaowErRe ygiad @1 wRu S|

PT.O.
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8098

| 1
(2) 8034

What is meant by a Parliamentary government ? Discuss why parliamentary form of
government is invariably popular in the present times.

W.mﬁmwm%?aﬁmwﬁmww
f AEfEm w Y 2 fEe W ' |

Critically examine the growing powers of American President.
aﬁﬁﬁ%,mﬁfﬁaﬁrwﬁﬁaﬁmmmmmuﬁmﬁﬁm

Bring out the distinctions between federal and unitary political systems with suitable
examples.

What are the contemporary debates on the nature of the state ? Discuss.

Write short notes on any fwo of the following :
ﬁ%ﬁﬁﬁw.a‘rmﬁmﬁmﬁﬁlﬁ@q:
(@)  Proportional representation _ . .
squifaes  gfafafue
(b) Dictatorsﬁip of Cabinet
Hfied A
(¢) Globalisation

ERCicT|

(d) Party system.

T FaTe |
2 6,000
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fewquit,— Wﬂmﬂﬁrmaﬁﬁwfﬁﬂﬁwwﬁﬁméﬁmwﬁmwm

1.

T& & &1 qE

Attempt all questions. All'qziestions carry equal- marks.

gt wv A & I Gifore 1 Ut yv & HF GHA B

What do you understand by social psychology? Discuss the scope of social psychology with
suitable examples. :

qﬁﬁmﬁmwwuﬁ%?wﬁwﬁ%muwanﬁmﬁ%

ﬁw foear W ==t e | : 5+10
Or (319e=m)
Discuss.the various levels of social behaviour using suitable example.

3UYTH ST & WY GHINSG AGER & fafqq @l 3 9= HifC | 15

Describe the process of person perception. Explain the role of attribution in person
perceptlon

wﬁsm&ﬁaﬂwmmwﬁaﬁﬁmwﬁsnﬂwﬁmaﬁqmaﬁm
HIfT | 2 8+7
o or (s '

What do you understand by attitude change? Describe the factors enhancing or
undermining attitude change in a society. :

ﬁﬂqﬁwﬁaﬂqﬁwmﬂﬁﬁ?wﬁﬁmwﬁaﬂ?aﬁmammﬁﬁ
maﬁml _ 7+8

P.T.O.
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3:

How can prosocial behaviour be enhanced? Discuss the various factors that influence
helping behaviour.

SRS SEER &I [6Y THER S S G € 7 NOuHiye e & yWfad A
arel faf= S S ==t SHifeg | . 5410

Or (217an)
Discuss the causes of aggression. Examine the role of media in perpetuating violence.

STHEAT 5 FRUT S FUA HY | SAEHERAT R deq H e @t offew #:@ oS
FifT | _ ' | | 7.5+7.5

Discuss the various channels of non-verbal communication.

m&mmﬁ;ﬁﬁm%ﬁﬁmaﬂh?ﬁml . 15

Or (31@an)
Illustrate the main characteristics of a group. Explain the process of coordination in
groups with relevant examples.

waﬁg@:fﬁ@rﬂmaﬂﬁmlaﬁamﬁimam@ﬁwmaﬁm
e | 7 7+8

Write short notes on any two of the following:

(a) Behavioural approach towards understanding social behaviour
(b) Attribution errors

(c) Prevention of aggression

(d) Conflict in group.

fre & ¥ ol o & W Wi feomlt Fif;

(a) WHISS FTER Hl FHASHA oq ATGRHS SYOH

(b) oM gfea

(c) STEHIHEHAT H UHATH |
(d) WE He | = e D
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fewott . wwwmwmm%ﬁmﬁwﬁﬁﬁq W gt W
H WEH TH B e el

Attempt any five questions.
Question number five is compulsory.

All questions carry equal marks.

fr<t ate ol & W S
W ®. dre oied ¥
Wity F oF T 2
1.  Define abnormal psychology. Discuss various criteria of abnormal behaviour. 5,10

Wﬁﬁﬁﬁﬁﬁﬂﬁﬁﬁmlww%ﬁfﬁmmﬂ

HiTed |
P.T.O.
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Or .
(31eram)

What 1s i)sychological well-being ? Discuss the- characteristics of psychological well-being.

, 5,10
i S F Y 2 S @ fagmaed wows S
What are the major perspecives of abnormality ? Discuss any one in detail. 5,10
W%wmw%?mﬁmﬁwﬁwﬁm1
Or
(3Fere)
Examine the familial and cultural perspective of abnormality. 7.5,7..5

Wﬁ%mﬁﬁﬂmv@wmuﬁwﬁﬁm

What are anxiety disorders ? Describe the clinical picture of obsessive compulsive disorder

with the help of a case study. | 5,10

‘ﬁmmﬂ@mwwﬁ%?w%@@aﬁwﬁﬁuﬁm—mmﬁwﬁ.
ﬁmﬁma@"{maﬁaﬁml

Or
(3rerem)

With the help of a case study describe the symptoms and clinical picture of
schizophrenia. P 15

@%ﬂ@ﬁaﬁmﬁﬁﬁmﬁawamwmwwmu

Explain the concept “‘psychological distress™ and various coping strategies to deal

~with it. 5,10

“ﬁaﬁﬁm”wawsﬂ@ﬁnﬁﬁﬁfﬂﬂwﬁﬁﬂﬁﬁmmy
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Or
- (3Tera)

Describe the role of optimism and happiness in enhancing psychological well-being and

personal growth. 15

frTd fom 3R TS Sad & fosh # SR 9 T A w5
U RIS |

5. Write short notes on any rwo of the following : - S 7S
(@) Mood disorder
(b) Biological perspective of abnormality
(¢) Catatonic schizophrenia
td) Psychological distress and well-being.
forl & W dfera feuolt fafee .
() e ferpf
(@) s|mEEa & Sfaw aibe |
(M) FeRIE Afege
(%) FAEHIE del $R A |

8100 3 , 600
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Q1.

a)

b)

Q2.

Attempt all four questions.

What is social or interpersonal intelligence? How is it distinct from emotional
intelligence? Elaborate on the concept and discuss its components with
suitable example (5+5+5)

OR

Why is the construct of intelligence or IQ considered as an inadequate
indicator of one's success in life? How does the concept of emotional

intelligence or EQ help in rectifying this inadequacy? Discuss with suitable
example/case study. (5+5+5)

Discuss the Indian model of emotional intelligence as put forth by Dalip Singh
and others. What are its components? Why do the authors refer to it as a

‘theory of personality’ as opposed to Goleman’s use of ‘theory of
performance’? (7+5+3)



OR

b) Discuss R. Boyatzis et al. (2000) model

of emotional

intelligence

competencies. Out of the four clusters, elaborate on any two and discuss the

competencies grouped within them.

Q3.

(7 +-8]

a) What is- empai:hy- and, why it is considered an essential emotional
competence? Discuss the centrality of chlldhood experiences in learning

skills associated with empathy

OR

(10+5)

b) What is the link between effective leadership and emotional intelligence?
What are some essential social skills that contribute to making successful

leaders? Discuss any two with examples.

Q4 Write short notes on any four of the following,

a) Self- awareness

b) Role of EI in conflict management

c) Emotional relearning

d) Gender differences in emotional intelligence

e) Self-regulation

f) Motivation

g) Non-defensive listening and speaking

h) Bullying, aggression and their link to emotions.

s

o

(7+8)

(7.5x4)



